
MCQ Set 4 – Solu-ons for Pos-ng 
 

1. B 

 
 
2. D 
vt = r w, and they have the same w since they are on the same rota3ng object, but 
person A has a greater r because he/she is further from the axis of rota3on. 
 
3. D 

 
 
4. B 

 
 
 
 
 
 
 
 

 
 
 



 
5. A  
Tip: For all MCQs, you can actually use g = 10 N/kg instead of g = 9.8 N/kg. The ques3ons 
are actually wriJen assuming g = 10 N/kg and it makes the math simpler. 

 
 
6. A 

 
 
7. E 

 
 
 
 
 
 



 
 
8. D 
When you find the rota3onal iner3a for each system, they all come out the same: 
 
 
 
 
 


